Eclipses
[image: C:\TA\A103\Class7_Moon_Eclipses\Lunareclipsediagram2.gif]What are eclipses in nature?
· One celestial object casts its _______________________ on the other one.

Why aren’t there solar eclipses and lunar eclipses on every new moon and full moon?
· ___________________________________________________________________

Two conditions must be satisfied for an eclipse to occur
1. The nodes of the moon’s orbit must be nearly aligned with the Sun and the Earth
2. The phase of the moon must be _________________ or _________________

Eclipse Cycles
· Every year there are at least ____________ lunar eclipses
· Lunar eclipses and solar eclipses always come in ____________________
· Lunar eclipses can be seen everywhere on the earth, but the solar eclipses may only be seen on part of the earth

Solar Eclipse
· Sun – the shadow of the moon on the _____________________
· [image: C:\TA\A103\Class7_Moon_Eclipses\Eclipses_solares_en.png]Occurs during ____________________________________
[image: Macintosh HD:Users:jencoates:Downloads:df22dab144442a4da52177afce6f2f11.jpg]
A – total eclipse
B – annular eclipse
C – partial eclipse






lunar Eclipse
· [bookmark: _GoBack][image: C:\TA\A103\Class7_Moon_Eclipses\Lunareclipsediagram3.gif]Moon – the shadow of the earth on the ___________________
· Occurs during the _________________________________
[image: Macintosh HD:Users:jencoates:Downloads:S6uyL1D15IxQpKOAOKO6TlyTekDOcAyjBXPqvHjK-b8qtrDS5fvQ-eMw6SNSLU4Z2x0DNbpnvo47xv5i_sZCzqkTNX5ZebFyinxz0Y_nrSdgytZxSLw.jpg]
image4.png
No eclipse /

//A‘//® No eclipse

Descending node lunar eclipse paths




image5.jpeg
PENUMBRA

R

oon

FOURTH CONTACT FIRST CONTAGT

THIRD CONTACT | SEGOND GONTACT
MDTOTALITY




image1.png
Descending Node

(MONTH)
Moon's Pathy

Sun's Path
Ascending Node (YEAR)





image2.png
Moon

antumbra

umbra
ca c s
penumbra

A

B

c




image3.jpeg








